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exercise0301.c

1: #include <stdio.h>

2

3: int main(void)

4: {

5: int a = 2, b = 3;

6 int c =1, d = 4;

7 int x, y;

8

9: //Fn

10: x =axd+ Db *x c;

11: y=Db *x d;

12: printf (" (%d/%d)+(hd/%d)=(%d/%d) ¥n",
13:

14: /17

15: x=axd-Db *x c;

16: y =b x d;

17: printf (" (%d/%d) - (hd/%d)=(%d/%d)¥n",
18:

19: / /T8
20: X = a % c;
21: y =Db *x d;
22: printf (" (%d/%d) * (%d/%d)=(%d/%d) ¥n",
23:
24: /778
25: x = a *x d;
26: y=Db * c;
27: printf (" (%d/%d) / Chd/%d)=Chd/%d) ¥n" ,
28:
29: return O;
30: }
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(AP E oA (Bd41)) (exercise0401.c)

#include <stdio.h>

: int main(void)

: {

int a[2] = {2, 3};

int b[2] = {1, 4};

int x[2];

//Fn

x[0] = a[0] * b[1] + a[1] * b[0];

x[1] = al[1] * b[1];

printf (" (%4d/%d)+(%d/%d)=(%d/%d) ¥n",
/17

x[0] = a[0] * b[1] - a[1] * b[0];
x[1] = a[1] * b[1];

printf (" (%d/%d) - (%ha/%d)=(%d/%d)¥n" ,
//FH

x[0] = a[0] * b[0];

x[1] = a[1] * b[1];

printf (" (%4d/%d) * (%hd/%hd)=(%d/%d) ¥n" ,
/ /P

x[0] = a[0] * b[1];

x[1] = al[1] * b[0];

printf (" (hd/%d) / (hd/%d)=(%hd/%d) ¥n" ,

return O;
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x[11);

x[11);

x[11);

x[11);
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’ @ HEFEHUR o> DU R exercise0302.c
1: #include <stdio.h>
2
3: int main(void)
4: {
5: double a = 2.0, b = 2.5;
6 double ¢ = -1.5, d = 4.5;
7 double x, y;
8 double tmp;
9:
10: //Fn
11: X =a + c;
12: y=Db+ d;
13: printf (" ((A£)+ (%) D+(CE+ D)=+ %E)1)¥n", a, b, c, d, x, ¥y);
14:
15: /17
16: X =a - C;
17: y =b - 4d;
18: printf (" ((AE)+GE) 1) - () + D) =((RE)+(%E)i)¥n", a, b, c, 4, x, y);
19:
20: / /%8
21: X =ax*xc-b xd;
22: y=axd+Db *x c;
23: printf (" ((A£)+ (%) D *(CEI+ D) =(HE)+%E)1)¥n", a, b, ¢, d, x, ¥y);
24:
25: /178
26: tmp = * ¢ +d *x d;
27: = ( * ¢ + b *xd) / tmp;
28: —(-1*a*d+b*c)/tmp;
29: printf("((%f)+(%f)i)/((%f)+(%f)i)=((%f)+(%f)i)¥n", a, b, c, d, x, y);
30:
31: return O;

32: }
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#include <stdio.h>

: int main(void)

: {

double a[2]
double b[2]
double x[2];
double tmp;

{2.0, 2.5};
{-1.5, 4.5%};

//Fn

x[0] al[0] + b[0];

x[1] = al1] + b[1];

printf (" ((HE)+CLE) D)+ ((WE)+ (%) )= (W) +(%E)i)¥n",

al[0], al1], b[0], b[1],
//7=
x[0] = al[0] - b[0];
x[1] = al1] - b[1];
printf (" (GE)+(AE) 1) - (CAE)+(%E) 1) =C (%) +(hE)i)¥n",
al0], al1l, bl0o]l, b[1],
//FE
x[0] = a[0] * b[0] - al1] * b[1];
x[1] = a[0] * b[1] + a[1] * b[0];

printf (" ((KE)+(%E) 1) * ((%E)+(%£)1)=( L)+ (%f) i) ¥n",
alo], al1], bl[0], b[1],

/178

tmp = b[0] * b[0] + b[1] * b[1];

x[0] = (al0] * b[0] + al1]l * b[1]) / tmp;

x[1] = (-1 * a[0] * b[1] + a[1] * b[0]) /tmp;

printf (" (%) + ) 1) / () + () 1) =C (%) +(%E)i)¥n",
al0], al1], bl[0], b[1],

return O;
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Z:¥src>exercise0403.exe |Enter
det (x)=-2.000000

z:¥src>

BEF 12 X 21750178 DME | (exercise0403.c¢)

1: #include <stdio.h>

2

3: int main(void)

4: {

5: double x[2][2] = {{1.0, 2.0}, {3.0, 4.0}};
6 double det;

7

8 /72 X 24THNDAT A D fE

9: det = x[0][0] * x[1]1[1] - x[0][1] * x[1][0];
10: printf ("det (x)=Yf¥n", det);
11:
12: return O;

13: }



